ooooon 2000000000000

420090 000o0o0oooob

AOOD00O0

n 000D0000000000000000000000000000000000000000000
() oooo 2020000 A, Booooo(A+B)?2=A+2AB+B2000000

(2) 2020000 A0 A2=FE00000O000A=E00DO0 A=—-ED0ODODOOO E0OOOOO
gooo

3) noooooo f(x)o f(le)=000000000f(x)0 x=ae0000000000
(4 nOo 200000000001 4+24+--+2000000 3000000000

Q oooooo 30 A(0,0),B(1,0),C(r,y) DO0DOD0ODOD y>000O0O0OOODOOOODO
(1) AABCOOODOOOODOOOODOOOD z,yOODOOOODOOD CODOOOODOOOQO

(2) AABCOOODOOOOOODOODOOOODOD z,yOOOODDOOOODO CODOO0OOOOODOOO
(3) 3ooo «ZCAB, ZABC, «,BCAOOODOOO a, B,y O0OOOOD

a<B<y<%
000000000000 z,y00ODDOO0OOO0OODODOD COOOOODODOOOO
(4) z,y0o (3)0D0O0ODOO0OO0DOyDOOOODOOOOOOOO

E] O0y=e*000 A0, )DDOO0O0OOOD /000D B(0,2) 00000 /0000000 mOO
D000 mO0OD0 y=¢€*0 20000 P,QD x0000000 o, 8000 a<pB)0O000O0
r=a000 /0000 PPO0OD0 x=40001/0000 QO00000000OO000OO

(1) DoDooo PPQQOOO SO a, AODODO

(2) DO0mOOoD y=€* 0000000000000 TO0 @, B0OOO0O0ODOO
(3) Do PQUOUO ROD 200000000000
(4) a+pB>—-1l0o00oOooOooOO

000 OABCOODOOO

AAOB:AAO(::%, LBOCz%, OA=0B=2, 0OC=1

oooo3d A,B,CDDDDDDDD PDDDD@ZEDDDDE&ZZ,@Z?}:&ZZDDDDDD

pUooO s, t0oado
;z(l—s—t)g—i-sz—l-t_c)

ooobooooooocoobooooooo

—_ > > > > —

(1) 0O pea, p<b, p-cO s, 10000000
(2) 0 PO ZAOP=/BOP=,COPOO0OO0OO0OOs, t00D000OO

(3) (2)oooobDUoon PoooooDOo APOooo BCoOooo Q, oo BPooo ACoooo R
00O00BQ:QCO00 AR:RCoOoOooO

(4) 2)uoooooooo Pooooo3ooooo OABP, OBCP, OCAPOOOOODOOOOO

B 20000000 A,BOODODOODODOOOOOOOOlODOO0OO0OOOD ADODOOOO p000O0

©OUoUD 00000000 O makoto



2000000000000 ooooo

Boooooo l—poooooo (oo 0<p<1)ODAOD BOOOOOOOOD 2000000000
00l 0000000000000D 100000000000000000000000000000O0O0
000000000000 000000000000 n 00000 ADDDOOOOOOODOOOOOOO P,
0000000 n00000000

(1) P,OO0OO

(2) Py 0DODOODO

(3) Py,0O0OonO

(4) 270000000 AODODODOODOOOOOOOOOO S,00000

(5) SZ}lLrQOSnDDDDpD Sooooooooon
 YERREnEn

00 y=x—2°00000000000 P, ¢—#) 00000 POODOOOD /00000000

t>0000000000000O
(1) y=x—200000000000000000000000000

(2) IDy=x—200000000 QOUOO0O0000 QO POOODOODOOOOOD QO x0000
ooo
(3) Doo OPROUOUOD 1200000 (000000000 ODOOOODOO

B 00000000000 00000000000000000000000000000000000
(1) z<y0OOoOD 22<y?20000

(2) logyx=logyy 00O x<yDOOODO

(3) noooooo f(x») O f(e)=000D000000f(x)0 x=e0000000000

(4) nD 200000000001 4+2+--4+n000000 3000000000

B J0000ooo PoooD y=f(r)000000000 QUOOOO0OO0OO0OOOOO POO QOO
OPQUoOOOODDO PO y=f(x)000000000000O0OOOOOOOODOODOOO

(D) DP1<0,%>DyZIZDDDDDDDdﬂ]DDDDDD

(2) [IP2<0,%>DnyZDDDDDDDdZDDDDDDD

(3 0 P,0D00O0DD0ODd 000 y=2200000000000000 SO00000O

000 OABCOOOOO

4AOB=4AOC=%, 4Boc=§, OA=0B=2 0OC=1

ooood3ad A,B,CDDDDDDDD PDDDDO—ISZEDDDDO—AZZ,CTBZE,(T&ZZDDDDDD

poOO0 s, t0O00O0O
;Z(l—s—t);—i-s_b)—i-t_c)

ooboooooooooboooooooo

- > > —>

(D) DDZ-E,p-b,p-ch,tDDDDDDD
(2) 0 Po ZAOP=4/BOP=/COPOOOOOOOs,t000O000OO
(3) (2)uooUooUooD PooooOooo APOOD BCOOODO QUUoUOBR:QCoOoOO

©ODooD 00000000 O makoto



ooooon

2000000000000

(4) (2)oooooooo Pooooo200000 OABPO OACPOOOOOOOOOO

B 20000000 A,BOODODOODODOOOOODOOOIODOD0O0OOOD ADODOOOO pOoO0O0OO
Boooooo 1—-poooooo (oo 0<p<1)ODAO BOOODOOOOO 2000000000
001l 00000000000000 100000000000000000000000000O0000O0
000000000000000000000000 »00000 AODODDOODOOOOOOODOOOO Py,

goboobbonoobbOoO0DO

(1) PO P,00000
(2) Py 00000
(3) Py oooono
(4 220000000 AODDDOODOODOOOOOOO S,00000
e |DDDDDDDDI N
OO0
B &8 (AoooDooooolC)oo
B # (ODoooooo
B & (IIDoooooo
g4 (BJoooooooo
B E% (AooodDooooo
OO0
B &8 (ODoooo
B ¥ (AoooDooooooooo
B8 & (ODoooo
% (BJoooooooo
B &8 (Aloo
\ J

©ODooDo0D 00000000 O makoto




2000000000000 od

S 0000

0 1 0 1
8@ () ooooooAd= , B=
1 0 -1 0

1 0
2 DDDDDDAz(l >

(3) mooooof(x)=a® Y
(4) ooooooo
(D) 22+y2=1, (x—1)2+y2=1, le, y>0
2
0Doooooo
1V, o1
@)(I—§>+y>zgx<Ly>O
00000000000 D00D0O0000

@)(—if+2>i 2+2<1, L<r<t y>o0
2 y 4’ y: > 2: = 7y
O00000000000000000000
T T

4 Fsr<5
B (1) S=8-«a

@) T=4F-a)+B-a

(3) ooooo

ooooooo

(4) ooooo

(D ;-224(1—3—0, 5-?;:4s+t, pc=s+t
@ s=%, t=4%
(3) BQ:QC=2:1, AR:RC=14:3
(4) 4:3:2

B () Pi=2p0—p)
(2) Poyp1=0
(3) Py =2""1p1 (01— p)!

_ pP1=(2p(d = p))"}
W 5= "= —p)

5
) 0<p<%DDD »>S

pZ%DDD p=S

p>%DDD p<S

©ODOo0Do0 00000000 O makoto



00 20090000000000
SOooon
(1) 0ooooooooooon y
x _% % 93
9
=1 o |+ 0 |-

2.3 2.3 -L 2
f(I)\—T/T\ _lﬁoilx
0ooo0000o0ooooon /4 V3

(2) —2
_ 243
3 t=42 9
(1) poooogzr=-2,y=1
(2) DDDDDDIZ%,yZ%
(3) pooooof(x)=2x°
(4) Doooooo
B0 da=1%
_ 43 3
_ 33 r
3 S=7"~3 L
() pra=4(1—s—1t), p-b=4s+t, p-c=s+t
_ 2 _ 4
(2) S—g, t—g
(3) BQ:QC=2:1
(4) 2:1
B ) P,=p’ Pi=2p’(1—p)
(2) Py1=0
(3) Poyy=2"""p" (1 — p)!

€Y

g — Pl —=(2pU—p))}
" 1—=2p(1—p)

©OUoUD 00000000 O makoto



